

Apartment in Mellieha



Mellieha, North



€425,000

Reference No: 240151078-349

 Total Rooms: **5**

 Floor Area (m²): **111**

 Bathrooms: **1**

 Bedrooms: **2**

Apartment - For Sale - Mellieha

MELLIEHA - 5th floor apartment with side sea views. Accommodation consists of a combined kitchen/living/dining, two double bedrooms, bathroom, boxroom and a spacious balcony. Property being sold highly finished excluding bathrooms and internal doors. Optional interconnected car spaces available. Freehold.

Features

- ✓ Ceramic Floor
- ✓ Gypsum Plastering
- ✓ Passenger Lift
- ✓ Terrace
- ✓ Video Intercom
- ✓ En Suite
- ✓ Skirting
- ✓ Double Glazed
- ✓ Balcony

Rooms

- ✓ Double Bedroom : 4.95 x 4.4 m (21.78 m2)
- ✓ Double Bedroom : 4.4 x 3.74 m (16.46 m2)
- ✓ Kitchen/Living/Dining : 6.95 x 4.61 m (32.04 m2)
- ✓ Bathroom : 2.52 x 2.22 m (5.59 m2)
- ✓ Box Room : 1.93 x 1.37 m (2.64 m2)
- ✓ Hallway : 7.09 x 1.9 m (13.47 m2)
- ✓ Open Space : 6.95 x 1.47 m (10.22 m2)

Gallery





Thomas Meachen

RE/MAX Edge - Attard

M: 99832214

E: thomas@remax.com.mt

T: 21480164

RE/MAX Edge - Attard

4Triq Antonio Schembri, Attard, Malta